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Read the Passage and answer Questions.

Independence by Chitra Banerjee Divakarum binds the reader in a spell. The
narration is beguilingly informal and taut, while the story line 1s immense yet
immediate. It is extremely rate that an author establishes such a spontaneous
rapport with an unknown reader. With this novel, Divakaruni firmly marks her
territory among the foremost storytellers of this nation and of her destiny.
Independence tells the story of the birth of modern India. The demand for separate
islamic nation by Muhammad Ali Jinnah-led Muslim League led to the Direct
Action Day in August 1946. Shows of force by two communal groups escalated in
to a bloodbath in kolkata. the fires of which rapidly spread to other places. Today
this 1s India's one enduring political legacy and the horrors of partiton are so
profound that no survivor utters its full description.

Divakurni's work of fiction is set in these uneasy times. Ranipur. a small
nondescript village tucked away on the banks of River Sarasi, forms the backdrop
to the deep friendship between the wealthy landlord Somnath Babu and Dr
Nabakumar Ganguly, whose families are forever entwined by tragedy and the pain
of loss. The cast of characters is sparse yet weaves a heartbreaking tale of an entire
region's history. What makes the narrative seep under the skin of the reader is that
it 15 fundamentally a pacan to love, in the wake of which comes a churn of human
emotions-anger. rejection. jealousy-boundaries that may be broken or defeated by
elation strength, responsibility, devastation and a reason to live despite 1t all. It 1s
what binds this cast of characters and what wrecks their lives. So many tragedies
could have been averted but the human heart longs for what it longs for and
nothing may change that Each character. spare and yet rendered almost in flesh, is
luminous. Even the villains reach out of the menace pages with the deaths and
there are far too many of them are brutal. Each underlines the devastation of that
moment in time as also the devastation being committed to an idea or cause may
bring . The inferno of partition 1s not shied away from and it is extraordinary how
the engaging style of writing sustains both the lustoric and the domestic, the
catastrophic and the intimate.

Sub questions

Question Number : 1 Question Id : 68634049411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The given passage is

1. Persuasive
2. Descriptive
3. Factual

4. Analytical
Options :
686340195201. 1
686340195202. 2
686340195203. 3
686340195204. 4

Question Number : 2 Question Id : 68634049412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Divakaruni's work of fiction is set in these "uneasy times". The underlined phrase 1s an example of:

1. Metaphor

| ]

. Hyperbole
3. Transferred Epithet
4. Allusion

Options :

686340195205. 1
686340195206. 2
686340195207. 3
686340195208. 4

Question Number : 3 Question Id : 68634049413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to passage . the novel Independence talks about

A, Partition of Indian subcontinent
B. Process of decolinization

C. Demand for separate Muslim state
D. Birth of modern India

Choose the appropriate answer from the options given below:

1. A Only
2. All the above
3. A& C Ounly
4.B & D Only

Options :

686340195209. 1

686340195210. 2

686340195211. 3
686340195212. 4

Question Number : 4 Question Id : 68634049414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on your understanding, pick the most appropriate option from below:

1. The author has not tried to romanticize the topic of partition

[

. The author has tried to complicate the issue of partition by showing too many deaths

3. The author has tried to change the history of partition through her linguistic style

e

. Both (1) and (2)

Options :

686340195213. 1
686340195214. 2
686340195215. 3
686340195216. 4

Question Number : 5 Question Id : 68634049415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The expression "seep under the skin" could mean:
1. It stimulates the curiosity of the reader
2. Keeps the reader emotionally invested
3. Keeps the reader physically involved
4. Causes a sensory overload to the reader

Options :

686340195217. 1
686340195218. 2
686340195219. 3
686340195220. 4

Question Id : 68634049410 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634049411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340195201. 1
686340195202. 2
686340195203. 3



686340195204. 4

Question Number : 2 Question Id : 68634049412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195205. 1
686340195206. 2
686340195207. 3
686340195208. 4
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Question Number : 3 Question Id : 68634049413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195209. 1
686340195210. 2
686340195211. 3
686340195212. 4

Question Number : 4 Question Id : 68634049414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195213. 1
686340195214. 2
686340195215. 3
686340195216. 4

Question Number : 5 Question Id : 68634049415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :
686340195217. 1
686340195218. 2

686340195219. 3
686340195220. 4

Sub-Section Number : 2
Sub-Section Id : 6863401607
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634049416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I seem to be in energy this morning
1. Bereft
2. Short
3. Low

4. Lack

Options :

686340195221. 1
686340195222. 2
686340195223. 3
686340195224. 4

Question Number : 6 Question Id : 68634049416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Helifergd & ¥ dgHa U §
1. TR
2. fiew
3. foer

4. gRY™

Options :

686340195221. 1
686340195222. 2
686340195223. 3
686340195224. 4

Question Number : 7 Question Id : 68634049417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Managers claim we were in desperate of greater investment in our industries
1. requirement
2. excess
3. lack
4. need
Options :

686340195225. 1
686340195226. 2



686340195227. 3
686340195228. 4

Question Number : 7 Question Id : 68634049417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ad-t BT el A B T U IS T
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Options :

686340195225. 1
686340195226. 2
686340195227. 3
686340195228. 4
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Question Number : 8 Question Id : 68634049418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This neighborhood looks a little and tatty these days

1. Well heeled

2

. Well-off
3. run down

4. Down and out

Options :

686340195229. 1
686340195230. 2
686340195231. 3
686340195232. 4

Question Number : 8 Question Id : 68634049418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3750 1 faa €

1. faeg

2. ey

3. Hiawy

4. 3U¥Y
Options :
686340195229. 1
686340195230. 2

686340195231. 3
686340195232. 4

Question Number : 9 Question Id : 68634049419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The builders told us that pile of cement was to their requirement.

1. excess

2

. extra
3. space
4. surplus
Options :
686340195233. 1
686340195234. 2

686340195235. 3
686340195236. 4

Question Number : 9 Question Id : 68634049419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
.58
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Options :



686340195233. 1
686340195234. 2
686340195235. 3
686340195236. 4

Question Number : 10 Question Id : 68634049420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
I don't think anything would me to leave this house
1. prevail
2. induce
3. entail
4. instigate
Options :
686340195237. 1
686340195238. 2

686340195239. 3
686340195240. 4

Question Number : 10 Question Id : 68634049420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y T T8 % o
1. HYyfd
2. faufa
3. Hid
4. HaYyfd
Options :
686340195237. 1
686340195238. 2

686340195239. 3
686340195240. 4

Question Number : 11 Question Id : 68634049421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of people who attended the public meeting was surprisingly large

1. number

| ]

. figure
3. amount
4, sum

Options :

686340195241. 1
686340195242. 2
686340195243. 3
686340195244. 4

Question Number : 11 Question Id : 68634049421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340195241. 1
686340195242. 2

686340195243. 3
686340195244. 4

Question Number : 12 Question Id : 68634049422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The film ends with sheriff lying in a of blood
1. bath
2. pool
3. puddle
4. jet

Options :
686340195245. 1



686340195246. 2
686340195247. 3
686340195248. 4

Question Number : 12 Question Id : 68634049422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 3{qsl

Options :

686340195245. 1
686340195246. 2
686340195247. 3
686340195248. 4

Question Number : 13 Question Id : 68634049423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 gather there was doubt as to who should pay the bill

1. any

| )

. the
3. some
4. every

Options :

686340195249. 1
686340195250. 2
686340195251. 3
686340195252. 4

Question Number : 13 Question Id : 68634049423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195249. 1
686340195250. 2
686340195251. 3
686340195252. 4

Question Number : 14 Question Id : 68634049424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Unfortunately too often one of our players gives the ball away.

1. every

[ ]

. none
3. once

4, all

Options :

686340195253.
686340195254.
686340195255.
686340195256.
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Question Number : 14 Question Id : 68634049424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HenfafEa 5 4 o o1 vafgar 79 98t 76l 82
1. Q=R - 3R
2. 99 - a1
3. TR - TpY
4. Sy - 3gg

Options :



686340195253. 1
686340195254. 2
686340195255. 3
686340195256. 4

Question Number : 15 Question Id : 68634049425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I have rarely seen such an impressive sight as a of buffalo roaming over the plains
1. flock
2. swarm
3. herd
4. pack
Options :
686340195257.
686340195258.

686340195259.
686340195260.
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Question Number : 15 Question Id : 68634049425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195257. 1
686340195258. 2
686340195259. 3
686340195260. 4

Question Number : 16 Question Id : 68634049426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The painting bears a resemblance to El Greco's earlier work

1. heated

| ]

. striking

3. fine

4. comparable
Options :
686340195261. 1
686340195262. 2

686340195263. 3
686340195264. 4

Question Number : 16 Question Id : 68634049426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195261. 1
686340195262. 2
686340195263. 3
686340195264. 4

Question Number : 17 Question Id : 68634049427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I don't think its fair to a comparison between the two sisters

1. do

| ]

. strilee
3. take
4. draw

Options :
686340195265. 1



686340195266. 2
686340195267. 3
686340195268. 4

Question Number : 17 Question Id : 68634049427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195265. 1
686340195266. 2
686340195267. 3
686340195268. 4

Question Number : 18 Question Id : 68634049428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

She gave a performance of the concert that had the audience on its feet.

1. matchless

2

. suitable
3. listless
4. competent

Options :

686340195269. 1
686340195270. 2
686340195271. 3
686340195272. 4

Question Number : 18 Question Id : 68634049428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195269. 1
686340195270. 2
686340195271. 3
686340195272. 4

Question Number : 19 Question Id : 68634049429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Saying you enjoy rock music is to admitting you are completely cloth-earned.

1. bound
2. virtually
3. tantamount

4. liable

Options :

686340195273. 1
686340195274. 2
686340195275. 3
686340195276. 4

Question Number : 19 Question Id : 68634049429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340195273. 1
686340195274. 2
686340195275. 3
686340195276. 4

Question Number : 20 Question Id : 68634049430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Its that he forgot three consecutive appointments.

1. unintelligible

| S

. inscrutable
3. incompatible

4. inconcervable

Options :

686340195277. 1
686340195278. 2
686340195279. 3
686340195280. 4

Question Number : 20 Question Id : 68634049430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 31 951 fa=a &
1. FR: + andep
R+ ande
R+ e
4.1 + e

Options :

686340195277. 1
686340195278. 2
686340195279. 3
686340195280. 4
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Question Number : 21 Question Id : 68634049431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The performance in the last scene was quite

1. describable

| ]

. notable
3. noticeable

4. remarkable

Options :

686340195281. 1
686340195282. 2
686340195283. 3
686340195284. 4

Question Number : 21 Question Id : 68634049431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafe & Suged Iuw &
1.
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Options :
686340195281. 1
686340195282. 2

686340195283. 3
686340195284. 4
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Question Number : 22 Question Id : 68634049432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The shoplifter claimed she had every of putting the goods back.
1. purpose
2. intention
3. hope
4. aim
Options :

686340195285. 1
686340195286. 2



686340195287. 3
686340195288. 4

Question Number : 22 Question Id : 68634049432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195285. 1
686340195286. 2
686340195287. 3
686340195288. 4
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Question Number : 23 Question Id : 68634049433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

It was a long dispute with neither side giving easily

1. clearance

| ]

. ground
3. mch

4. hand

Options :

686340195289. 1
686340195290. 2
686340195291. 3
686340195292. 4

Question Number : 23 Question Id : 68634049433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340195289. 1
686340195290. 2

686340195291. 3
686340195292. 4

Question Number : 24 Question Id : 68634049434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the trouble was the decision to allow non-members into the club

1. root

2

. stem
3. mould
4. trigger
Options :
686340195293. 1
686340195294. 2

686340195295. 3
686340195296. 4

Question Number : 24 Question Id : 68634049434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. fopan fagryon
2. fepa
3. gaqg
4. favisor

Options :
686340195293. 1



686340195294. 2
686340195295. 3
686340195296. 4

Question Number : 25 Question Id : 68634049435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Van Gogh suffered from depression by overwork and ill-health
1. coming about
2. taken up
3. brought on
4, put through
Options :
686340195297. 1
686340195298. 2

686340195299. 3
686340195300. 4

Question Number : 25 Question Id : 68634049435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340195297. 1
686340195298. 2

686340195299. 3
686340195300. 4

| )

%]

Part B
Section Id : 686340974
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 67

Number of Questions to be attempted : 67



Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401608
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 68634049436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension
Based on the Passage given below answer the questions.

The distribution of opportunities for learning available in a society is an important
factor that influences both how "worth' of a certain kind of knowledge is perceived
or weighed and how knowledge that is regarded as worthy of being taught will be
represented in educational materials. We can take for granted that the knowledge
relevant or related to groups whose access to education 1s poor will not be regarded
as worthy of being taught in schools. The knowledge of animal behaviour and
medicinal plants that the Baigas have acquired over a length acquaintance with the
jungles of central India is unlikely to be regarded as worthwhile educational
knowledge. Baiga children have poor access to opportunities for education and
their chances of doing well at school are very slim at least partly because the
Baiga's life finds no resonance in the school curriculum.

How the method of teaching affects the character of what 1s taught can be seen in
the teaching of science. The distinctness of science as a school subject comes from
the need for experimentation by the learner. As a subject that demand
experimentation and independent inquiry by the learner, science is associated with
freedom of judgement and equality between the student and the teacher in the
presence of objective facts. Science education is supposed to be conducive to
secular values precisely because it makes aseribed authority redundant, But if
science is taught in a traditional manner with the authority of the textbook and the
teacher's word and without opportunity for experimentation it would cease to have
a secular character and value. Once it loses its original character owing to the
application of conventional pedagogies. science can easily become an instrument
for authoritarian control in the classroom and in society. The practice of science in
a milieu that does not permit equality or open questioning might lead pupils into
imbibing values that are antithetical to science. Also science can reinforee existing
structure of dominance if its content and the method of teaching are not
reorganised from the perspective of powerless social groups.

Not just the character of what is taught but the volume of content. too. is atfected
by the methods of teaching.

Sub questions

Question Number : 26 Question Id : 68634049437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the passage what is an important factor that determines the worth of a particular
kind of knowledge?

1. Access to wealth

| S

. Cultural background and expertise
3. Access to educational opportunities

4. Political ancestry
Options :
686340195301. 1
686340195302. 2
686340195303. 3
686340195304. 4

Question Number : 27 Question Id : 68634049438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements is FALSE about science education?

1. Science education should be reorganized from the perspective of marginalised groups

-

. Science can become an instrument of authoritarian control in the society

LFN]

. Not practicing open questioning in the classroom can lead to inculcation of unscientific values
4. Science education must be in opposition to the values of secularism sparing little room for judgement

Options :

686340195305. 1
686340195306. 2
686340195307. 3
686340195308. 4

Question Number : 28 Question Id : 68634049439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are crucial elements in the teaching of science?

A. Investigation

B. Ascribed authority
C. Textbooks

D. Experimentation

Choose the correct answer from the options given below:
1.Aand B
2.AandD
33JAOBandD

4. B.CandD

Options :

686340195309. 1
686340195310. 2
686340195311. 3
686340195312. 4

Question Number : 29 Question Id : 68634049440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to passage . identify the aspects that can be affected by the methods of teaching from the following
list.

A. Nature of what is taught

B. Volume of content

C. Constituents of knowledge

D. Opportunity for upward mobility

Choose the correct answer from the options given below:
1.Aand B
2.A.BandD
3.B.CandD

4. BandD

Options :

686340195313. 1
686340195314. 2
686340195315. 3
686340195316. 4

Question Number : 30 Question Id : 68634049441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Knowledge of the Baiga myth of the world's creation will be considered worth while educational
knowledge

Reason R: Inclusion of the Baiga experience in the curriculum depends upon their performance in today's
competetive society

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R 18 not correct

4. A is not correct but R is correct

Options :

686340195317. 1
686340195318. 2
686340195319. 3
686340195320. 4

Question Id : 68634049436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)

Question Label : Comprehension
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Sub questions

Question Number : 26 Question Id : 68634049437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195301. 1
686340195302. 2
686340195303. 3
686340195304. 4



Question Number : 27 Question Id : 68634049438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195305. 1
686340195306. 2
686340195307. 3
686340195308. 4

Question Number : 28 Question Id : 68634049439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195309. 1
686340195310. 2
686340195311. 3
686340195312. 4

Question Number : 29 Question Id : 68634049440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195313. 1
686340195314. 2
686340195315. 3
686340195316. 4

Question Number : 30 Question Id : 68634049441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340195317. 1
686340195318. 2
686340195319. 3
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Sub-Section Id : 6863401609
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 68634049442 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension
Based on the Passage given answer the questions.

It 1s a great pity that our primary schools do not have a separate period for
storytelling for the first two grades each day. Such a provision would have solved
at least a part of the problem we face in retaining children at school. Many will say
that I am giving undue importance to this problem. Storytelling has a magical
effect on children. I should like to imagine the day when anyone who wants to
teach yvoung children will be required to master at least thirty traditional stories. By
'Master' I mean: to know the stories by heart, so one can tell them in a relaxed.
confident manner. That is hardly a tall order for a society that has inherited
thousands of stories from its past. Thirty stories that the teacher can tell at will can
transform the ethos of the first two years of primary schooling. The daily
curriculum must find an honourable place for story telling for its own sake.

Stories that have come down to us from traditional have a special set of
characteristics that contemporary stories presented in different forms and m the
media do not necessarily posess. The Panchatantra. the Jatakas, the Mahabharata.
the Arabian Nights. stories of Vikramaditya. and folktales from different regions
come to mind as ready and rich sources. Similarly Kathasaritsagar, the Gulistan
and the Boston. the Birbal stories. Similarly folktales and fairytales from round the
world. Anyone who wants to introduced storytelling as a regular feature of the
curriculum must ensure access to a selection of stories from these resources.
Storytelling deserves to be seen as a civilisational practice which permits us to
protect the diversity of cultural experiences and stances from the homogenising
effects of modern education and media. Storytelling also needs to be celebrated as
an oral heritage. in the obvious sense that its acsthetic merits and appeal evolved
by means of oral communication and memory. as well as with reference to the oral
competence that storytelling as an everyday practice calls for.

Sub questions

Question Number : 31 Question Id : 68634049443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Why does the writer prefer traditional stories?

1. Traditional stories promote indigenous values

| )

. They promote cultural diversity of the sub-continent

(5]

. They homogenise ideas of morality and ethics

4. They can easily be communicated orally in contrast to comics
Options :
686340195321. 1
686340195322. 2



686340195323. 3
686340195324. 4

Question Number : 32 Question Id : 68634049444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to the author. stories can
1. entertain children
2. teach magic
3. teach them to value their heritage
4. make them practice things everyday
Options :
686340195325. 1
686340195326. 2

686340195327. 3
686340195328. 4

Question Number : 33 Question Id : 68634049445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the necessary condition for storytelling to transform the early years of primary
schooling?

1. It must be made a core component of the daily curriculum
2. Identifying at least thirty traditional stories
3. Teachers should be tramed for storytelling
4. Administrators and politicians must lobby for its inclusion
Options :
686340195329. 1
686340195330. 2

686340195331. 3
686340195332. 4

Question Number : 34 Question Id : 68634049446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 18 labelled as Assertion A and the other is labelled as Reason R
Assertion A: Primary teachers should memorise the traditional stories

Reason R: Storytelling must be done in a relaxed and confident manner

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 1s correct

Options :

686340195333. 1
686340195334. 2
686340195335. 3
686340195336. 4

Question Number : 35 Question Id : 68634049447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why should storytelling be introduced in schools?

A. Storytelling stirs children's imagination and fascinates them
B. Storytelling improves oral comprehension
C. Oral heritage can be celebrated through storytelling

Choose the correct answer from the options given below:

1. A only

| ]

. C only
3. Aand C only

4. A. B and C only

Options :

686340195337. 1
686340195338. 2
686340195339. 3
686340195340. 4

Question Id : 68634049442 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 68634049443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 32 Question Id : 68634049444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195325. 1
686340195326. 2
686340195327. 3
686340195328. 4

Question Number : 33 Question Id : 68634049445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195329. 1
686340195330. 2
686340195331. 3
686340195332. 4

Question Number : 34 Question Id : 68634049446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195333. 1
686340195334. 2
686340195335. 3
686340195336. 4
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Question Number : 35 Question Id : 68634049447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195337. 1
686340195338. 2
686340195339. 3
686340195340. 4

Sub-Section Number : 3
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Question Number : 36 Question Id : 68634049448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following teachers would prove to be the best mentor for children?

1. The one who identifies with them and understands their needs

2

. The one who has the best artistic skills
3. The one who keeps subject content at the centre
4. The one who has special skills and techniques to teach
Options :
686340195341. 1
686340195342. 2

686340195343. 3
686340195344. 4

Question Number : 36 Question Id : 68634049448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195341. 1
686340195342. 2
686340195343. 3
686340195344. 4

Question Number : 37 Question Id : 68634049449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the status given to English language by the Constitution of India?

1. Link language

| ]

. Official language
3. National language
4. Associate official language
Options :
686340195345. 1
686340195346. 2

686340195347. 3
686340195348. 4

Question Number : 37 Question Id : 68634049449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195345. 1
686340195346. 2
686340195347. 3
686340195348. 4

Question Number : 38 Question Id : 68634049450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Museums serve an important purpose : to put children in a mood to marvel to expect and to
prepare them to be ready for them. If a teacher takes the students to museums regularly. they will learn to
marvel at things

1. rare experiences

2=

. several instructions

Lad

. variety of knowledge

4, several things



Options :

686340195349. 1
686340195350. 2
686340195351. 3
686340195352. 4

Question Number : 38 Question Id : 68634049450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195349. 1
686340195350. 2
686340195351. 3
686340195352. 4

Question Number : 39 Question Id : 68634049451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian women, writing in English in the 19th and early 20th centuries. wrote about their lives and experience
in a variety of forms wrote a novel in 1905 titled which 18 now well known, First written
in English and then translated into Bengali, it 1s a feminist fantasy utopia m which women control the state and
men are confimed to the mardana.

1. Igbalunnisa Hussain, Men's Purdah
2. Zeenath Futehalley, Zohra Rules

3. Rokeya Sakhawat Hussain, Sultana's Dream

4. Noor-un-Nissa Inayat Khan: A New State

Options :

686340195353. 1
686340195354. 2
686340195355. 3
686340195356. 4



Question Number : 39 Question Id : 68634049451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195353. 1
686340195354. 2
686340195355. 3
686340195356. 4

Question Number : 40 Question Id : 68634049452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It shall be the endeavor of every state and of every local authority within the state to provide adequate
tacilities for instruction in the mother tongue at the prumary stage of education to children belonging to
linguistic minority groups which Article of our Constitution deals with it ?

1. Article 350 A

| ]

CArticle 15 A
3. Asticle 21 A

4, Article 12 A

Options :

686340195357. 1
686340195358. 2
686340195359. 3
686340195360. 4

Question Number : 40 Question Id : 68634049452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195357. 1
686340195358. 2
686340195359. 3
686340195360. 4

Question Number : 41 Question Id : 68634049453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In his short story Bade Bhai Saheb. Prem Chand has offered a critique of colonial education? Which of the
tollowing reflects his critical views ?

1. Colonial education was inspired by French ideals

| B

. Colonial education has no space for Tabla
3. Colonial education was not accessible to his sister
4. Colonial education involved mindless mugging up

Options :

686340195361. 1
686340195362. 2
686340195363. 3
686340195364. 4

Question Number : 41 Question Id : 68634049453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195361. 1
686340195362. 2
686340195363. 3
686340195364. 4

Question Number : 42 Question Id : 68634049454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The UN convention on the Rights of the Child (CRC) which requires the state to protect the child from

1. all forms of abuse. harassment and struggle

| ]

. all forms of violence, torture and degrading punishment
3. all forms of violence . abuse and school punishment
4. all forms of harassment. torture and struggle

Options :

686340195365. 1
686340195366. 2
686340195367. 3
686340195368. 4

Question Number : 42 Question Id : 68634049454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195365. 1
686340195366. 2
686340195367. 3
686340195368. 4

Question Number : 43 Question Id : 68634049455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the central theme of the 19th century Malyalam novel 'Saraswati Vijayand?
1. Emancepative potential of caste reform movements
2. Caste reform movements under Moplah Revolt
3. Emancepative potential of the colonial education
4. Caste reform movements during colonial period
Options :
686340195369. 1
686340195370. 2

686340195371. 3
686340195372. 4

Question Number : 43 Question Id : 68634049455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195369. 1
686340195370. 2
686340195371. 3
686340195372. 4

Question Number : 44 Question Id : 68634049456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A:The government has implemented the scheme for providing quality education in madarsas
(SPQEM). to provide equal opportunity to minorities in access to modern education for children

Reason R:The facilities of educational tramning in the area of engineering and technology have therefore been
emended systematically.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct and R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A 1s not correct but R 1s correct

Options :

686340195373. 1
686340195374. 2
686340195375. 3
686340195376. 4

Question Number : 44 Question Id : 68634049456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195373. 1
686340195374. 2
686340195375. 3
686340195376. 4

[

Question Number : 45 Question Id : 68634049457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The slogan 'SATYAMEV JAYATE' was widely popularised by whom ?

1. Bal Gangadhar Tilak
2. Subhash Chandra Bose
3. Madan Mohan Malviya
4. Ram Prasad Bismil

Options :

686340195377. 1

686340195378. 2

686340195379. 3
686340195380. 4

Question Number : 45 Question Id : 68634049457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195377. 1

686340195378. 2

686340195379. 3
686340195380. 4

Question Number : 46 Question Id : 68634049458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Wardha Scheme of Basic Education” was also known as

1. New Scheme of independent India

| )

. New India Education Scheme
3. New Era Education Policy

4. Nai Taleem

Options :

686340195381. 1
686340195382. 2
686340195383. 3
686340195384. 4

Question Number : 46 Question Id : 68634049458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340195381. 1



686340195382. 2
686340195383. 3
686340195384. 4

Question Number : 47 Question Id : 68634049459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dysgraphia is a type of learning disability in which learner faces difficulty in

1. performing accurate maths calculations and learning number related concepts
2. Constructing meaningful and effectively structured expressive writing
3. Recalling words. names, numbers ete
4. Reading . writing, spelling
Options :
686340195385. 1
686340195386. 2

686340195387. 3
686340195388. 4

Question Number : 47 Question Id : 68634049459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et R e &1 U UeR o, g fRiandf foad Sie-rg o1 9w od1 g2
1. TI10Td o au1ef URe el &l HaRiH B IR T e Hafed saeronsi §
2. e SR UruTdl 3 ¥ R sfieuedere o ©1 79T B3 o

3. Yregl, AMHI, o 31c BT W0 B H
4. U5, @, gaq1 5

Options :

686340195385. 1
686340195386. 2
686340195387. 3
686340195388. 4

Question Number : 48 Question Id : 68634049460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Scheme for Higher education youth in Apprenticeship and skills (SHREYAS) is a scheme of Government of
India for graduate students to get:

1. Teacher Training
2. Vocational Training
3. Industrial Training
4. Counseling Training
Options :
686340195389. 1
686340195390. 2

686340195391. 3
686340195392. 4

Question Number : 48 Question Id : 68634049460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195389. 1
686340195390. 2
686340195391. 3
686340195392. 4

Question Number : 49 Question Id : 68634049461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'India wins freedom' was authored by:-

1. Mahatma Gandhi

| S

. Pt. Jawaharlal Nehru
3. Rabindranath Tagore

4. Abdul Kalam Azad



Options :

686340195393. 1
686340195394. 2
686340195395. 3
686340195396. 4

Question Number : 49 Question Id : 68634049461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195393. 1
686340195394. 2
686340195395. 3
686340195396. 4

Question Number : 50 Question Id : 68634049462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Total enrolment in secondary and higher secondary stages increased correspondingly from 1.5
million in 1950-51 to over 50 millions in 2015-16

Reason R: Total enrolment in higher education has been estimated to be less than 30 million
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R 1s false
4. A 1s false but R 1s true
Options :
686340195397. 1
686340195398. 2

686340195399. 3
686340195400. 4



Question Number : 50 Question Id : 68634049462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195397. 1
686340195398. 2
686340195399. 3
686340195400. 4
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Question Number : 51 Question Id : 68634049463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Upanishad. the Sanskrit texts of Hindu Philosophy, a dialogue between a young boy and a powerful god of
death has been presented. This creative dialogue has been presented in

1. Ken-upanishad

J

. Prashna-upanishad

[ 5]

. Katna-upanishad
4. Mandukya-upanishad

Options :

686340195401. 1
686340195402. 2
686340195403. 3
686340195404. 4

Question Number : 51 Question Id : 68634049463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195401. 1
686340195402. 2
686340195403. 3
686340195404. 4

Question Number : 52 Question Id : 68634049464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Put the names of the winners of ' BOOKER PRIZE' in the chronological order from oldest to latest-

A. V.S Naipaul

B. Kiran Desai

C. Salman Rushdie
D. Arundhati Roy
E. Arvind Adiga

Choose the correct answer from the options given below:

1.LADBCE
2ZZACDBE
3,ACBDE
4 ABCDE

Options :

686340195405. 1

686340195406. 2

686340195407. 3
686340195408. 4

Question Number : 52 Question Id : 68634049464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ACDEBE
3JJACBDE
4. ABCDE
Options :
686340195405. 1
686340195406. 2

686340195407. 3
686340195408. 4

Question Number : 53 Question Id : 68634049465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the status given to Hindi language by the Constitution of India in Article 343 (1)?

1. Link language

| ]

. Official language
3. National language
4. Associate official language

Options :

686340195409. 1
686340195410. 2
686340195411. 3
686340195412. 4

Question Number : 53 Question Id : 68634049465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195409. 1

686340195410. 2

686340195411. 3
686340195412. 4

Question Number : 54 Question Id : 68634049466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Shahrukh Khan, a renowned Indian film actor . has recetved an honory doctorate from the
1. University of Berlin
2. La Trobe University. Melbourne
3. University of Glasgow
4. Jamia Milia Islamia
Options :
686340195413. 1
686340195414. 2

686340195415. 3
686340195416. 4

Question Number : 54 Question Id : 68634049466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340195413. 1



686340195414. 2
686340195415. 3
686340195416. 4

Question Number : 55 Question Id : 68634049467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In the film igbal released in 2003, igbal 1s a boy. who dreams of playing cricket for India.
1. Visually challenged
2. Deaf and mute
3. Loco motor disabled
4. Polio victim
Options :
686340195417. 1
686340195418. 2

686340195419. 3
686340195420. 4

Question Number : 55 Question Id : 68634049467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195417. 1
686340195418. 2
686340195419. 3
686340195420. 4

Question Number : 56 Question Id : 68634049468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The famous story "Brahmarakshas ka shishya” by Muoktibodh. the teacher

1. becomes a demon because he had misused his knowledge

| ]

. becomes a demon because he had no students to teach
3. he had a fierce demonic spirit and personality
4. he had done evil things in life and sought salvation

Options :

686340195421. 1
686340195422 2
686340195423. 3
686340195424. 4

Question Number : 56 Question Id : 68634049468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfaaid ©f UiRig HUl- SeRIaN o ey § fRigre:

1. U gFd 4 o1 § e 39+ 19 &1 gSUanT [ ol

2. U g4 9 oIidl & dife 3% 91y e & foru org faendf a2t a1
3. 390 TP GER TR ATl SR Afddd e o

4, 39 oflg T R B {9 oIk gfda 1 arg-1 @1 ot

Options :

686340195421. 1
686340195422. 2
686340195423. 3
686340195424. 4

Question Number : 57 Question Id : 68634049469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



See the Diagram and think about the right responses. i.¢. the figure show

R U

A i

N E

Ty

1. (ANB) NC
2. ANC
3.ANB-C
4. ANB

Options :

686340195425. 1
686340195426. 2
686340195427. 3
686340195428. 4

Question Number : 57 Question Id : 68634049469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 S @I 44 3R Hel fapedi & aR & i 574 e g oA amiar 8

S cn U

1. (ANB)Y NC

2.ANC

3. ANB-C

4. ANB
Options :
686340195425. 1
686340195426. 2

686340195427. 3
686340195428. 4



Question Number : 58 Question Id : 68634049470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If x. v, z in the axis of a given 3D Geometrical shape, then the given coordinate point (-4,7.-1)) will lie in
which octant

1. IV octant
2. VI octant
3. VII octant
4, VIIT octant
Options :
686340195429. 1
686340195430. 2

686340195431. 3
686340195432. 4

Question Number : 58 Question Id : 68634049470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%E%:ﬂx y.z U [QUIN 3D AT R & ofgf & § ol flgan w1 g 65 (-4.7.-1)) [ spiwe o

1. IV U

| )

. VI VS
3. VII U6
4. VIII AYIgH

Options :

686340195429. 1
686340195430. 2
686340195431. 3
686340195432. 4

Question Number : 59 Question Id : 68634049471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



See the adjacent figure and find the value of £A in the semicircle

A
et AN
A TN,

P ra A e
o R
/ 4 ", b
1 ',’ iy |
s ",

i .-'\‘ .,-'}\ 'I
B e
, v
L _ }A.r

= "% pircls
1. 100°
2. 45"
3.60°
4. 90°
Options :

686340195433. 1
686340195434. 2
686340195435. 3
686340195436. 4

Question Number : 59 Question Id : 68634049471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fereadl epfa @1 46 3R sidga & 2A &1 HF A (o)

4. 90°

Options :

686340195433. 1
686340195434. 2
686340195435. 3
686340195436. 4



Question Number : 60 Question Id : 68634049472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The figure (A) 1s showing which type of function?

4] rd

Figure (A)

1. Strictly increasing function

| ]

. Strictly decreasing function
3. Decreasing function
4. Increasing function

Options :

686340195437. 1
686340195438. 2
686340195439. 3
686340195440. 4

Question Number : 60 Question Id : 68634049472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UE NP (A) B F [0 TSR T el 82

A (A)

.

1. PR avar Bem

[

2. [FROR gTHHHE o

3. BT B
4. TIAF BaA

Options :

686340195437. 1
686340195438. 2
686340195439. 3
686340195440. 4

Question Number : 61 Question Id : 68634049473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2

: o i ; F 2 {AE "
Find out the degree of the differential equation E ,.L EJ +2t=()
ds” L ds
1.2
it |
3.0

4. Not defined

Options :

686340195441. 1
686340195442. 2
686340195443. 3
686340195444. 4

Question Number : 61 Question Id : 68634049473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3Pl THIHR B (SUT (32N I Jd BT j_zf-[ﬂ]?ﬂFu
2

ds

1.2

| o]
(Y

3.0
4. afeuTRig et fpar mar g1

Options :

686340195441. 1
686340195442. 2
686340195443. 3
686340195444. 4

Question Number : 62 Question Id : 68634049474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram and Mohan can do a piece of work in 20days. Mohan alone can do the work in 30days. In how many
days will Ram alone complete the work.

1. 60 days

| B

. 50 days
3. 40 days
4. 30 days

Options :

686340195445. 1
686340195446. 2
686340195447. 3
686340195448. 4

Question Number : 62 Question Id : 68634049474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H 3R HIgA U6 HTH &1 20 &7 1 T5d 8. Hig Hbal 39 S P 30 69 7 Ha1 8, a1 9 Hbar 39
FH P fdha- [T a2

1. 60 fa=
5013
3. 40 fg=
4.30f&7

Options :

686340195445. 1
686340195446. 2
686340195447. 3
686340195448. 4

[

Question Number : 63 Question Id : 68634049475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Process of indicating addition [ 3+2=5] at number system

—t—t—t——+ t +—t Integer line
A S 43210123 435 )
B. } > Tnteger line
= 3 = "
C. ! T T T T T T
01 234 5867
— 3 L2
D._[ [ ]
T T T T T T T
01 2345467

Choose the correct answer from the options given below:

1.ABCDE
2B A CDE
3.E,D.C,B,A
LB.ADCE

Options :

686340195449. 1

686340195450. 2

686340195451. 3
686340195452. 4



Question Number : 63 Question Id : 68634049475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T UG (d TR AN [ 3+2=5] SiId B3 DI WichdT:

3 Tt F—11 \a‘ﬂmq_-ﬁ
545210123 45

B. « - # Tl dhe

Dl 4 I 'l
T |
61432354567
& 3-5625

E.
| T I
01234567

-2 fu e fosedl & 9 wgl SR &1 9 S

1.AB.C.D.E

| B

.B.A.C.D.E
3ED.E B A
4.B.AD.C.E

Options :

686340195449. 1
686340195450. 2
686340195451. 3
686340195452. 4

Question Number : 64 Question Id : 68634049476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Two natural numbers are in the ratio 3:5 and their product 1s 2160. The smaller of the numbers 1s

1. 20

| ]

.14
3.12
4. 18

Options :
686340195453. 1



686340195454. 2
686340195455. 3
686340195456. 4

Question Number : 64 Question Id : 68634049476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l TG e SRSl T 3UMd 3:5 § SR 361 UASHd 2160 § f aF Segisfl 3 3 Bict e &1 ghl 2

1.20

|

14
3.12
4. 18

Options :

686340195453. 1
686340195454. 2
686340195455. 3
686340195456. 4

Question Number : 65 Question Id : 68634049477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How much time will it take for an amount of Rs.450 to yield Rs.81 as interest at 4.5% per annum of simple
interest?

1. 3.5 years
2.4.5 years
3. 5 years
4. 4 years
Options :
686340195457. 1
686340195458. 2

686340195459. 3
686340195460. 4

Question Number : 65 Question Id : 68634049477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fore T 1. 450 =Y 15 I=M W 4.5% B a1 &6 & R $d 8% 94 DI GIYRU &1 YT SHT 2
1.3.509
2.45d8
3.5a8
4. 499
Options :
686340195457. 1
686340195458. 2

686340195459. 3
686340195460. 4

-

Question Number : 66 Question Id : 68634049478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If an article is sold at 300 percent profit, then the ratio of its cost price to its selling price will be

1.1:4

2

.4:1
3.1:3
4, 3:1

Options :

686340195461. 1
686340195462. 2
686340195463. 3
686340195464. 4

Question Number : 66 Question Id : 68634049478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ TP ard B 300% 1Y TR &1 1dT 3. a1 39 aFTd 20 3R [dhd o &1 SaTd a1 8 2

1.1:4

[

. 4:1

4. 3:1

Options :
686340195461. 1



686340195462. 2
686340195463. 3
686340195464. 4

Question Number : 67 Question Id : 68634049479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two ships are sailing in the Sea on the two sides of a lighthouse. The angles of elevation of the top of the
lighthouse as observed from the two ships are 30° and 45° respectively. If the lighthouse is 100m high. the
distance between the two ships is:

1.273m

| ]

. 300m
3.173m

4, 200m

Options :

686340195465. 1
686340195466. 2
686340195467. 3
686340195468. 4

Question Number : 67 Question Id : 68634049479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l STeTol U T% 1, U A1SE B1ed & aH! 3R 90 38 ¢ | TI5C 8139 & UMY &1 aF| sgml 3 S99
HIT HARE: 30° 3R 45° 51 3R AIGC 813 &I g 100 Hiex § dl aF1 SleTell & &= &1 g3 Fa1 shil

1.273 ﬁllﬂ?
2. 300m ﬂlaq
3.173m ﬂlaq
4. 200 fllﬁ?
Options :
686340195465. 1
686340195466. 2

686340195467. 3
686340195468. 4

Question Number : 68 Question Id : 68634049480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Single cell protein refers to edible unicellular microorganism which one of the following belongs to this
category’

1. Yeast
2. Spirulina
3. Lactobacillus

4, Leuconostoc

Options :

686340195469. 1
686340195470. 2
686340195471. 3
686340195472. 4

Question Number : 68 Question Id : 68634049480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USHd HIBT UICH, U @Ie SIS Jegasild $i Gaitld oal ¢ | Hafied O 9 oF 9 5oy Jdltd
82

1. WHR
g eadle-l

s TIPS

Options :

686340195469. 1
686340195470. 2
686340195471. 3
686340195472. 4

| )

%]

Question Number : 69 Question Id : 68634049481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The conjugate base of a strong acid iz a weak base and it has least tendency to accept a proton which one is an
example of strong acid-

1. CH;COOH

| )

.NH,
3. HCL

4. Nacl

Options :

686340195473. 1
686340195474. 2
686340195475. 3
686340195476. 4

Question Number : 69 Question Id : 68634049481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Uad 1% b1 GG &R Uh gadl &R & 3R 290 U UK I Wb B S - U gl &
Fofafad § @ o191 uad o &1 U6 3318301 82

1. CH;COOH
2. NH;

3. HCL

4. Nacl

Options :

686340195473. 1
686340195474. 2
686340195475. 3
686340195476. 4

Question Number : 70 Question Id : 68634049482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'"Law of natural selection' was given by-

1. Emst Mayr

| S

. Lamarck

3. Darwin

4. Muir



Options :

686340195477. 1
686340195478. 2
686340195479. 3
686340195480. 4

Question Number : 70 Question Id : 68634049482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepg T ices avur &1 g faar U
1. 3% A”R
2. AHS
3. 31
4. 3R

Options :

686340195477. 1
686340195478. 2
686340195479. 3
686340195480. 4

Question Number : 71 Question Id : 68634049483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not an inter conversion of the state of matter

Heat Heat

=t

- Solid + Liguid » (Gas

- Heat T Heat T
- Gas — Liquid ——— Solid

| B

Conl and Compress Cowl

3. Gas » Liguid » Solid

Heat Cool

4. gplid Gas Solid

Options :

686340195481. 1
686340195482. 2
686340195483. 3
686340195484. 4

Question Number : 71 Question Id : 68634049483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. g =, g T

Options :

686340195481. 1
686340195482. 2
686340195483. 3
686340195484. 4

Question Number : 72 Question Id : 68634049484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pyramid of energy in an ecosystem is always -

1. Inverted
2. Upright
3. Horizontal
4. Cyclic

Options :

686340195485. 1

686340195486. 2

686340195487. 3
686340195488. 4

Question Number : 72 Question Id : 68634049484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Uiitda § Sl o1 fOxifirs 9ed glar &:

L¥%]
%



Options :

686340195485. 1
686340195486. 2
686340195487. 3
686340195488. 4

Question Number : 73 Question Id : 68634049485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The SI system has seven basic units and these units pertain to the seven fundamental scientific quantities
which one is not i the list of seven SI units-

1. Second

| B

. Kelvin
3. Mass

4. Mole

Options :

686340195489. 1
686340195490. 2
686340195491. 3
686340195492. 4

Question Number : 73 Question Id : 68634049485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SI systemﬁﬂﬁﬁﬂﬂﬁm% éﬁ?ﬁsﬁﬁwﬂ@ﬁaﬁﬁﬁmmﬁﬁm@fwﬁm%
FTRET O ¥ S Ud 1d U, 3115, ST &f 941 4 981 8

1. 4%g
2. Bied
3 gah:
4. 9T
Options :
686340195489. 1
686340195490. 2

686340195491. 3
686340195492. 4

Question Number : 74 Question Id : 68634049486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The process of conversion of nitrogen (N,) to ammonia by living organisms is called biological

nitrogen fixation
Reason R: Nitrogenase enzyme which is capable of nitrogen reduction is present exclusively in Eukaryotes
In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but R is true

Options :

686340195493. 1
686340195494. 2
686340195495 3
686340195496. 4

Question Number : 74 Question Id : 68634049486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-2 3 HuF AU T §, US SfUBYUT (Assertion A) F I T ft1REd & T IR 3T BRI (Reason R) B
gy

SfUFHYT A: Siifdd SaH gRI AEee (N2) @1 AHIHT1 § SUidRul 1 Wikhal & wide Argeie §
=il Sl Il g |

BRI R: ASCIo4 TolgH, Ol ATgcior & 3aue 1 9&H §. 370 39 4 shiicy | [dem= ¢
SWRIGd DU & 3H1elier §, - fEU U fae el § § 969 SUged 3R &1 99 Sifl
1.A R RIFTEI € IR R, AT TSl AR &
A SR REF T8l 8 3R R, AT Ul AR 7ol o
AT AR TR
4. A 9B T8I B APIR TR ©

Options :

686340195493. 1
686340195494. 2
686340195495. 3
686340195496. 4

2=



Question Number : 75 Question Id : 68634049487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a forest ecosystem, transfer of energy in a food chain:
A.Lion
B. Deer
C. Vulture

D. Plants
E. Fungi & bacteria

Choose the correct answer from the options given below:

L.B.GRBEA
22D, B CALE
3. DB.ACE
4 A B.C.E.D

Options :

686340195497. 1

686340195498. 2

686340195499. 3
686340195500. 4

Question Number : 75 Question Id : 68634049487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS 9 UIived T Ueb AT @ § Sl T HdR:

A f&s

B. 3T
c.fig

D. Hley
E. Tt S Sifary] (@aifea
< feu e fasedl O 9 |5t 3% &1 904 SIT:

1.D,C.B.E.A

2.D,B,C,AE

3.D,B,A.C.E

4.A,B,C.E,D

Options :

686340195497. 1
686340195498. 2



686340195499. 3
686340195500. 4

Question Number : 76 Question Id : 68634049488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Acquired immunodeficiency syndrome means deficiency of immune system. acquired during
the life time of an individual and it 1s not a congenital disease

Statement IT: The retrovirus have an envelope enclosing the DNA genome
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct
Options :
686340195501. 1
686340195502. 2

686340195503. 3
686340195504. 4

Question Number : 76 Question Id : 68634049488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%aﬁmﬁt{w%"

FYF I THITS 1A ST Rism &1 3 (63 caafad & Sigerd & aRE STfid WioRaol
T &t St B, O U S I TR g

Y I1: ISR § 31, U, U SfiH11 &1 U uRdg Saeu gl gl

SURIGd DY & 3Telier §, A fAU 71U fge eyl o 9 969 S9ged SR &1 90 DI
1. YT AR FYT I G T5i &
2. FYT 1 SR FYF 11 &1 TTed &
3. YA TE! 8. Wb YA T §

4. BYF 1A &, Qb PYT 1 ol ©

Options :
686340195501. 1



686340195502. 2
686340195503. 3
686340195504. 4

Question Number : 77 Question Id : 68634049489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An ecosystem has

A. Plants are the first trophic level

B. Primary consumers are always carnivore

C. Primary and secondary consumers are herbivore
D. Secondary consumers are carnivore

E. Tertiary Consumers are the fourth trophic level

Choose the most appropriate answer from the options given below:
1. A. B and E only
2. A.DandE only
3.B.Cand E only

4. B. C and D only

Options :

686340195505. 1
686340195506. 2
686340195507. 3
686340195508. 4

Question Number : 77 Question Id : 68634049489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. UET WUH YN0l TR & gid o

B. WY& JuHiad 9¢d AiaeRi eid ol

. aTufies iR fgdiaes Suviea IRl g B
D. fgdiae guiied wigert gl &

E. qaTae Susiiadr 9q uivo &R & g

i fau e fadedl & & gt SR &1 9 Il
1.A.B3RE

A.D3RE

3.B.C 3RE

4.B.C3RD

[ )

Options :

686340195505. 1
686340195506. 2
686340195507. 3
686340195508. 4

Question Number : 78 Question Id : 68634049490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Spongilla 1. |Coelenterata
B. |Fasciola I1. |Porifera
C. JAdamsia (Sea anemone)| IIl. |Annelida
D. [Hirudinaria IV. |Platyhelminthes

Choose the correct answer from the options given below:

1. A-II B-I C-IV D-III

[ )

. A-IT B-IV C-I D-III
3. A-IV B-III C-II D-1
4. A-IB-III C-IV D-II

Options :

686340195509. 1
686340195510. 2
686340195511. 3
686340195512. 4



Question Number : 78 Question Id : 68634049490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 11 e 1 4 (HeH Fifoe

el S I
I I |Hid==e qsE)
LN 1L [t

TS RgT (& U] I [iAfasT
BRIl V. [eidefeg

fgfeiad fowedi § § U8l SO &1 99 Sifoig .

1. A-II B-I C-IV D-III

ola[w[s

| B

CA-ITB-IV C-I D-III
3. A-IV B-III C-I1 D-1
4. A-IB-III C-IV D-II

Options :

686340195509. 1
686340195510. 2
686340195511. 3
686340195512. 4

Question Number : 79 Question Id : 68634049491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Functional classification Towns

A |Cultural Town [. Panchmarhi
B. |Tourist Town IT. [Ujjain

C. [Educational Town | III. [Kolkatta
D. [Commercial Town | IV |Allahabad

Choose the correct answer from the options given below:

1. A-I B-1I C-III D-IV

[ )

AT B-I C-IV D-III
3. A-IV B-III C-1I D-1
4. A-III B-IV C-I1 D-11

Options :

686340195513. 1

686340195514. 2
686340195515. 3



686340195516. 4

Question Number : 79 Question Id : 68634049491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 4 e S
mﬁ@aﬂﬂ?ﬁm E;l_‘g?n

GT@‘I%F:EW I [d=Hel
1. [3eH

ﬁ‘lfcﬁfﬁ TR 111 [ IcTaTdl
disge TR | IV. Eorererg

frafefad famedl d 4 |8t SR &1 9u7 Bifse .

1. A-I B-1I C-III D-IV

.Dc-_mp

| )

CA-IIB-I C-IV D-ITT
3. A-TV B-III C-II D-1
4. A-III B-IV C-1 D-I1

Options :

686340195513. 1

686340195514. 2

686340195515. 3
686340195516. 4

Question Number : 80 Question Id : 68634049492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The notion of sustainable development emerged in the wake of general rise in the awareness of
environment issues in the late 2000s in Eastern World

Statement II: Sustainable development reflects the concern of people about desirable effects of industrial
development on the environment

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true

| B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement IT is true

Options :



686340195517. 1
686340195518. 2
686340195519. 3
686340195520. 4

Question Number : 80 Question Id : 68634049492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%aﬁmﬁt{w%"

HYA I: YR (g1 B &ROM &1 o fa% H 2000 & 5@ & 3ifay a9 J gaiar0] & aR J Arddl
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2. BYF 1 3R B 11 S Tel e §
3. YA 1TE! 8. Wb YA N T §

4. BYF 1A &, Al PYT 1 ol ©

Options :

686340195517. 1
686340195518. 2
686340195519. 3
686340195520. 4

Question Number : 81 Question Id : 68634049493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Warebandi system is
1. A system of equitable distribution of water in the command area of canal outlet
2. A technique of collecting and storing of rain water at surface or in sub-surface acquifer
3. A movement of the people for the specific purpose from one place to another in the country
4. A practice of seasonal migration of pastoral communities
Options :
686340195521. 1
686340195522. 2

686340195523. 3
686340195524. 4



Question Number : 81 Question Id : 68634049493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NEa! (Warebandi ) HUTE T &7
. T8 & faehT & DU &3 H el o TG [daR0l &1 U Yorel
SO IR U1 FU-eTe] UHHRR TR gy 5idl & HUE AR HSRU S T db-1D
SR H U Y G WM TP [GAY YT & o ST 61 T gl
OR[N SHGd! & HH! UaeH &1 U 0l
Options :
sesad0195523 2

686340195523. 3
686340195524. 4

[y

[ )

%]

=

Question Number : 82 Question Id : 68634049494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following planets is not a dwart planet?
1. Ceres
2. Enis
3. Pluto

4, Uranus

Options :

686340195525. 1
686340195526. 2
686340195527. 3
686340195528. 4

Question Number : 82 Question Id : 68634049494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & Siar 78 T 9 (@11 78 el &
O (Ceres)

: éﬁ? (Eris)

; @ (Pluto)

. HB_*\G (Uranus)

Options :

686340195525. 1

686340195526. 2

686340195527. 3
686340195528. 4
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Question Number : 83 Question Id : 68634049495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the density of population if. area of the region is 100 sq km. population is 1.50.000 persons.

1. 1.000 person/sq km

| S]

. 1.250 person/sq km
3. 1.500 person/sq km
4. 1.750 person/sq km

Options :

686340195529. 1

686340195530. 2

686340195531. 3
686340195532. 4

Question Number : 83 Question Id : 68634049495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e TR &1 &4 100 T [ & SR SF9@AT 1.50.000 TG § <l S-S & 9 &1 GREa- S|
. 1.000 oHfeki /a7t fepait:
- 1.250 orfdd /a7t fopat:
. 1.500 S /@ fet:

[a—

[

L]

| o O

4. 1.750 Tafad /a fet:

Options :



686340195529. 1
686340195530. 2
686340195531. 3
686340195532. 4

Question Number : 84 Question Id : 68634049496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Secondary source of data consists of

A. Interviews

B. Questionnaire

C. Government publication
D. Electronic media

E. Personal observation

Choose the correct answer from the options given below:
1. A and B only
2. Cand D only
3. Aand C only

4. B and E only

Options :

6863401955331
686340195534. 2
686340195535. 3
686340195536. 4

Question Number : 84 Question Id : 68634049496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



327 (&) & T wid &1 82

A TIETHR
B. UYTdal

C. IRPRI UHIEH

D. goideii-a Hifsdr
E. HfRPTd 3adisA

- feu e famedl & & w8t SR &1 99 S
1. ¥ae A SR B
2. %add C 3IRD
3.%ad ASIRC
4.%ad B 3R E

Options :

686340195533. 1
686340195534. 2
686340195535. 3
686340195536. 4

Question Number : 85 Question Id : 68634049497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Railway Zone Headquarters

. [Northern I. |Secundarabad

[North Central | IL [Mumbai (Church Gate)
South Central | I [New Della

. |Western IV |Allahabad

o|ofw|=

Choose the correct answer from the options given below:

1. A-III B-IV C-I D-II

| )

. A-IV B-III C-II D-I

%]

. A-IV B-II C-ITI D-I
4. A-III B-I C-IV D-II

Options :

686340195537. 1
686340195538. 2
686340195539. 3
686340195540. 4



Question Number : 85 Question Id : 68634049497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 11 11 ¥ B Fifoe
Tl 1 39 9 (AUsa) Tt I
A [T I [fe<Rek

B QRAE AN T=a) |1 |[gEs @d e
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fgfeiad fowedi § § U8l SO &1 99 Sifoig .

1. A-III B-IV C-I D-II

| B

. A-IV B-III C-II D-1
3. A-IV B-II C-III D-1
4. A-III B-I C-IV D-II

Options :

686340195537. 1
686340195538. 2
686340195539. 3
686340195540. 4

Question Number : 86 Question Id : 68634049498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Veda Brahamanas
F.ig Veda 1. |Gopatha
Yajur Veda II. [Panchvisha
Sam Veda [T, [Kaushiti ki
| Atharva Veda | IV |Shatapatha

REE

Choose the correct answer from the options given below:

1. A-TII B-IV C-II D-1

[ )

AL B-ITI C-I D-IT
3. A-II B-IV C-III D-1
4. A-IV B-ITI C-1I1 D-1

Options :

686340195541. 1

686340195542. 2
686340195543. 3



686340195544. 4

Question Number : 86 Question Id : 68634049498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 4 e S

T 132 11 I
A [BidG 1. [ay
B. [ggde 8 SEIEE
C [gmdg 111 [iEifde]
D. [31yd dg V. [grauy
frafaRad fowedi § O gt W o1 9= Sifoe .

1.LA-IIl B-IV C-II D-I

| )

CA-IIB-III C-I D-IT
3. A-II B-IV C-ITI D-1
4. A-IV B-III C-II D-1

Options :

686340195541. 1
686340195542 2
686340195543. 3
686340195544. 4

Question Number : 87 Question Id : 68634049499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

History repeats itself . first as tragedy . second as farce. is a famous quote of

1. Plato

[

. Hegel
3. Karl Marx
4. EH Carr

Options :

686340195545. 1
686340195546. 2
686340195547. 3
686340195548. 4

Question Number : 87 Question Id : 68634049499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195545. 1
686340195546. 2
686340195547. 3
686340195548. 4

Question Number : 88 Question Id : 68634049500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to citizen Act 1955, an Indian citizen may lose either citizenship through

A. Naturalisation
B. Renunciation
C. Registration
D. Termination
E. Deprivation

Choose the correct answer from the options given below:

1. A. B and D only

[ )

.B.D and E only
3.B. C and D only
4. C.D and E only

Options :

686340195549. 1
686340195550. 2
686340195551. 3
686340195552. 4

Question Number : 88 Question Id : 68634049500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ST 1055 & SHR Plg HRTT (68 SR Y SO ANTREG T a1 Tl 52

A ARTRB D0
B. @M

C. Uoiiep0

D. YA (FHGA)
E. €9

= feu e faedl © § w8t IR 1 99 ST
1.¥ad A, B 3R D
2.%dd B.D 3R E
3.%dd B.C3R D
4.%d% C.D3IRE

Options :

686340195549. 1
686340195550. 2
686340195551. 3
686340195552. 4

Question Number : 89 Question Id : 68634049501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of the events of the disintegration of the Soviet union in accordance of their
chronological order.the oldest one comes first

A. The communist party hardiness stage an abortive coup against Gorbachev

B. Mikhail Gorbachev elected as the General Secretary of the Communist Party of the Soviet Union
C. Independence movement begins in Lithuania. later spreads to Estonia and Latvia

D. Gorbachev resigns as the President of the Soviet Union

E. Soviet Union declares that the Warsaw pact members are free to decide their own futures

Choose the correct answer from the options given below:
1.B,C.E.A D
2. D00B CoALE
3E.B.D.C. A

4B, D.C.AE

Options :

686340195553. 1
686340195554. 2
686340195555. 3
686340195556. 4



Question Number : 89 Question Id : 68634049501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifdad 99 & faue ot ue13i &l 7% SRPHER 39 3IHH ¥ oqdieyd Hiforg, fored grdi=edr o
YU T 3Ed §U 3T §¢

A. GraTe] O1e & HEUT - Mardd & [00G 0P Shd Hifd &l |

B. firarsa mief<a Hifgad 99 o graard! urdf & #grafya Haffd few e

c. ferysirirar § wadzan siigiem SRy g, o a8 gs Ul SR andfaar § b ]

D. Ti§rdg = Hifdyd 99 & Ayufd Us 4 IreA < faan

E. Gifdad Iu 7 980 &t {6 arRyT Ude & 95 ¥ g 91 Higs 90 - & o Waa 8

i< faT T fgeedl © & T8t IR B 99 DIl

1.B.C.E.A.D

2.D.B.C.AE

3.E.B.D.C.A

4 B.D.C.A.E
Options :
686340195553. 1
686340195554. 2

686340195555. 3
686340195556. 4

Question Number : 90 Question Id : 68634049502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Why do we need Art Education?

1. It turns one into a work procrastinator

-

. It makes one feel connected to the world around him/her
3. It turns one in to a follower of great ideas

4. It ensures that one does not waste his time in books

Options :

686340195557. 1
686340195558. 2
686340195559. 3
686340195560. 4

Question Number : 90 Question Id : 68634049502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195557. 1
686340195558. 2
686340195559. 3
686340195560. 4

Question Number : 91 Question Id : 68634049503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Theatre can teach children the very fundaments of

1. Acting

| ]

. Ingression
3. Teamwork
4. Egresses
Options :
686340195561. 1
686340195562. 2

686340195563. 3
686340195564. 4

Question Number : 91 Question Id : 68634049503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frgeR (Freman o= &I g Hdid gayd ardl & e § 9odl g2
1. g
2. 3 (E2RE)
3. 3w
4. JO¥ (SUTH)

Options :




686340195561. 1
686340195562. 2
686340195563. 3
686340195564. 4

Question Number : 92 Question Id : 68634049504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dance education is an area of interest because many scholars believe that dance education promotes the
aesthetic education of children. which is important for the ....... growth of students.

1. Practical

| B

. Social
3. Communal

4. Academic

Options :

686340195565. 1
686340195566. 2
686340195567. 3
686340195568. 4

Question Number : 92 Question Id : 68634049504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T e 3 @1 U &3 § il shiw fagrl o oy € & 9o o Rien o= @ el v Rien &1
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Options :

686340195565. 1
686340195566. 2
686340195567. 3
686340195568. 4

Question Number : 93 Question Id : 68634049505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term Craft 1s derived from Anglo-Saxan word Croeft which means:

1. Beauty and Grace
2. Strength and Skills
3. Creation and Value
4. Meaning and work

Options :

686340195569. 1

686340195570. 2

686340195571. 3
686340195572. 4

Question Number : 93 Question Id : 68634049505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U ' g Udl - Jaa- Weg HIgue I U a1 a1 g Suadt of 1 g 2

1. Tred 3R e

XI5 SR P

ol SR 7
4. 31 R 7

Options :

686340195569. 1

686340195570. 2

686340195571. 3
686340195572. 4

| ]

L

Question Number : 94 Question Id : 68634049506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An analysis of the mortality and nutritional indicator from the pre-school. primary. secondary and senior
secondary levels show that under nutrition and are the major health problems faced by
majority of children in our country.

1. Under-intelligence

3=

. Conmununicable disease

L%

. Mental Challenges

=Y

. Physical disabilities



Options :

686340195573. 1
686340195574. 2
686340195575. 3
686340195576. 4

Question Number : 94 Question Id : 68634049506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195573. 1
686340195574. 2
686340195575. 3
686340195576. 4

Question Number : 95 Question Id : 68634049507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1s important for the teachers to know that NFHS S (2019-2020) data show that percent of
children are underweight in India.

1. 12 Percent

-J

. 15 Percent
3. 35 Percent

4. 32 Percent

Options :

686340195577 1
686340195578. 2
686340195579. 3
686340195580. 4

Question Number : 95 Question Id : 68634049507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195577. 1
686340195578. 2
686340195579. 3
686340195580. 4

Question Number : 96 Question Id : 68634049508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 13 important for the teachers to understand that 15 a multidimensional concept and is shaped by
biological. economic social and political factor.

1. Mortality

| )

. Curriculum
3. Health

4. Time table

Options :

686340195581. 1
686340195582. 2
686340195583. 3
686340195584. 4

Question Number : 96 Question Id : 68634049508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195581. 1
686340195582. 2
686340195583. 3
686340195584. 4

Question Number : 97 Question Id : 68634049509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a Comprehensive school health programme. mid day meal and medical check ups must be included and
health education must address the

1. Age specific concerns

| B

. Exam specific concerns

%]

. Community specific concern
4. State specific concerns

Options :

686340195585. 1
686340195586. 2
686340195587. 3
686340195588. 4

Question Number : 97 Question Id : 68634049509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195585. 1
686340195586. 2
686340195587. 3
686340195588. 4

Question Number : 98 Question Id : 68634049510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
National programme of Nutritional support of primary education was launched in 1995 under which cooked
Mid Day Meals may meals were to be mtroduced to all Government and Government aided prumary schools.

however it became possible

1. after the supreme courts judgement given i 2001

2=

. after the money was released to run the programme in 2001

LF¥]

. In 2000 when private donors made hefty donation
4, In 2000 when India received money from the UN

Options :

686340195589. 1
686340195590. 2
686340195591. 3
686340195592 4

Question Number : 98 Question Id : 68634049510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195589. 1
686340195590. 2
686340195591. 3
686340195592 4

Question Number : 99 Question Id : 68634049511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Song 'Humko Mann Ki Shakti Dena', popularly sung in morning assembly in school was written by:

1. Shailendra

| S

. Gulzar
3. Kaifi Azmi

4. Sahir Ludhianvi

Options :

686340195593. 1
686340195594. 2
686340195595. 3
686340195596. 4

Question Number : 99 Question Id : 68634049511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340195593. 1
686340195594. 2
686340195595. 3
686340195596. 4
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Question Number : 100 Question Id : 68634049512 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who had coined the concept (procedure) of Body Mass Index (BMI)?
1. Pierre Baron de Coubertin
2. Adolph Qeutelet
3. WHO
4. Indian Olympic Association (IOA)
Options :
686340195597. 1
686340195598. 2

686340195599. 3
686340195600. 4

Question Number : 100 Question Id : 68634049512 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. [ &34 1§ Braafe
2. USIew fdcde
3. 5eg, U, 3l
4. 3fsT siferfite TAIRER (311, ofl. 1)

Options :




686340195597. 1
686340195598. 2
686340195599. 3
686340195600. 4



